Trosa BS

Barometer 2023-03-28

Partavling, 5 bord, 9 par. Antal brickor: 24. Medel: 72.1. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 6 82.3 57.14  Leif Eliasson - Mats Gernandt 58736 64990 Trosa BS
1 9 82.3 57.14  Kent Wappling - Else-Marie Wéppling 88572 88573 TrosaBS
3 2 77.7 53.97  Birgitta Kempe - Else-Maj Sigfridsson 62922 63114 Trosa BS
4 5 74.3 51.59  Georg Larsson - Christer Ohman 10658 43095 Gnesta BK
5 8 69.0 47.92  Bengt Hallgren - Hakan Hakansson 8909 9597  Trosa BS - LM Ericssons BK
6 3 68.6 47.62  Bruno Astrand - Willy Andersson 53524 64987 Trosa BS
7 10 67.4 46.83  Fredrik Broberg - Bengt Ljungcrantz 90783 4393  Trosa BS
8 4 64.0 44.44  Svante Wangberg - Cecilia Mérner 47877 87945 Trosa BS
9 7 62.9 43.65  Sture Nordlinder - Yvonne Nordlinder 58732 58731 TrosaBS
1 453 Basta kontrakt 2 482 Basta kontrakt 3 4 Kn98 Basta kontrakt
Nord v 932 54 O =-450 Ost v KKn87652 24 OD-1100 Syd v D972 34 S =140
Ingen + DKn63 NS + Kn4 ov + D95
#10862 & ¢ v & NT #Kn9 & ¢ v & NT *K82 & ¢ v & NT
4E1086 #KDKn972 N 6 5 6 2 4 ~4E54 4D10976 N8 7 856 4 E64 41032 N9 7897
vDKn74 v5 S656 24 vE109 vD4 S 88867 v 86 v K543 S97897
¢ EK82 ¢107 07 7 6 119 + D962 +¢853 O555 76 ¢ EKKn42 ¢ 1063 O46546
&5 «KD74 V67 6 119 #ED4 #532 V55576 #E65 2943 V4605486
a4 & KKn3 4 KD75
v EK1086 v3 v EKn10
¢ 954 + EK107 + 87
#EKn93 #K10876 #DKn107
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
47 44 O+1 YA -450 4.0 2.0 8 3 2vy N= a7 110 6.0 0.0 65 2y N= +3 110 6.0 0.0
65 44 0+1 ©vA -450 4.0 2.0 65 24 V-1 +4 50 4.0 2.0 47 2NN-1 aT -50 4.0 20
83 44 0+1 ©vA -450 4.0 2.0 47 2vDN-1 49 -200 1.0 5.0 8 3 INV= v3 -90 2.0 40
92 464 O+2 43 -480 0.0 6.0 92 4y N-2 46 -200 1.0 5.0 92 2NS-4 2 -200 0.0 6.0
10 - 2.8 10 - 2.8 10 - 2.8
4 4 K102 Basta kontrakt 5 4 EDKn843 Basta kontrakt 6 & KDKn8 Basta kontrakt
Vast v 7643 44 N =620 Nord vE10 7NT N =2220 Ost vED92 24 O =-110
Alla ¢ EKn42 NS + K2 ov 2
#95 & ¢ v & NT #K98 & ¢ v o NT #9873 & ¢ v & NT
4854 476 N7 9 8 109 4K109 4765 N 13139 1113 476532 «E10 N6 4756
vD1092 vEKn8 S 7 9 8 109 vKn975 vKD863 S 13139 1113 v6 v K853 S6 47586
+ K3 ¢+ D1098 O6 45 34 ¢1097 ¢85 000410 + K64 ¢EKN1083 O 7 8 5 8 7
#Kn1086 #K742 V64534 #1074 #D52 V00410 #KD54 &Kn6 V78587
« EDKn93 a2 494
v K5 v42 vKn1074
¢ 765 + EDKn643 + D975
#ED3 #EKn63 #E102
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
94 3NN= +9 600 5.0 1.0 9 4 6NN= vK 1440 6.0 0.0 58 2vS-1 ¢4 -50 5.0 1.0
10 2 3NS= v2 600 5.0 1.0 10 2 3NS+3 v5 690 4.0 20 94 3vyN-1 s A -50 5.0 1.0
58 24 S+2 &) 170 1.0 5.0 58 49 0-5 a2 250 20 4.0 10 2 3¢ O= &A -110 2.0 4.0
76 24 S+2 &) 170 10 5.0 76 3« N+1 vK 170 0.0 6.0 76 2NV= oK -120 0.0 6.0
-3 2.9 -3 2.9 -3 2.9
7 » 105 Basta kontrakt 8 4 K4 Basta kontrakt 9 « D75 Basta kontrakt
Syd v K1075 6NT S = 1440 Vast v 8542 44 V =-420 Nord v K104 4% O =-130
Alla + D95 Ingen + Kn87 ov + E1095
#ED62 & ¢ v & NT #EK98 & ¢ v & NT #972 & ¢ v & NT
4 DKn96432 487 N 107 126 12 4 ED1052 4Kn73 N555 34 4 E1098 4Kn6 N26 853
v9 v2 S 107 126 12 v EK97 vKn3 S555 34 vKn2 vE9 S 2686 3
4 Kn102 ¢ E87643 026171 ¢+ D94 ¢ E103 O7 8 8 109 ¢ Kn63 ¢ KD7 O 107 5 7 8
*K9 210753 V26171 *4 #D7653 vV 8 8 8 109 #E854 #KDKnl1063 V 106 5 7 8
4 EK 4986 & K432
v EDKn8643 vD106 v D87653
+K + K652 ¢ 842
*Kn84 #Kn102 *-
Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
24 6vS= +J 1430 6.0 0.0 69 44 V-1 *A 50 6.0 0.0 24 464 0= v5 -130 6.0 0.0
69 5vS+1  ¢Q 680 3.0 3.0 8 7 24 V+2 #A -170 3.0 3.0 8 7 6vDS-3 aA -500 3.0 3.0
87 4vS+2 «Q 680 3.0 3.0 10 3 24 V+2 &K -170 3.0 3.0 10 3 5vDS-3 &A -500 3.0 3.0
10 3 5v S= *J 650 0.0 6.0 24 4e V+1l  #A -450 0.0 6.0 6 9 3NV +1 +5 -630 0.0 6.0
-5 3.1 -5 3.1 -5 3.1
10 s E74 Bésta kontrakt 11 49752 Bésta kontrakt 12 49 Bésta kontrakt
Ost vKD874 54 S =650 Syd v 754 ANT V =-430 Vast v K732 34 N =140
Alla + Kn9 Ingen + 103 NS + K1086
*E62 & ¢ v & NT #Kn982 & ¢ v & NT «D1084 & ¢ v & NT
4 D82 453 N9 6 11117 « EKKn86 4103 N3 3433 48743 4 Kn106 N 108 8 9 8
v 105 vEGB3 S 9 6 11117 v K109 vD3 S 33433 v 106 v Kn954 S 108 8 9 8
¢+ ED832 ¢ K7654 047226 +92 ¢ KKn876 O 10108 1010 ¢ EDKn54 ¢ 732 0354414
«Kn74 &D85 V472286 D63 #EK105 vV 9 107 8 10 &K5 S»E32 V 3514414
4 KKn1096 aD4 4 EKD52
v Kn92 v EKn862 vEDS8
+ 10 + ED54 +9
#K1093 *74 #Kn976
Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
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26 2y N+3 45 200 5.0 1.0 98 3vS-3 & A -150 6.0 0.0 98 24S+3 vT 150 6.0 0.0
98 24 N+3 45 200 5.0 1.0 35 2NV+2 v5 -180 4.0 2.0 26 24 S= ¢4 110 3.0 3.0
10 4 34 S+1 & 170 20 40 26 3NV+L  v4 -430 1.0 5.0 35 24 S= vT 110 3.0 3.0
35 2y N+1 ¢3 140 0.0 6.0 10 4 3NV+1  v7 -430 1.0 5.0 10 4 44 S-1 vT -100 0.0 6.0
7 - 2.6 7 - 2.6 7 - 2.6
13 4765 Basta kontrakt 14 4 EKD865 Basta kontrakt 15 4 DKn6 Basta kontrakt
Nord vE632 6NT O =-1440 |Ost vE7 4¢ OD-2300 Syd v EK108 3V =-110
Alla + 976 Ingen 7 NS + E83
»864 & ¢ v & NT #D1094 & ¢ v & NT £643 & ¢ v & NT
«KDKn4 «E8 N13111 » 107 4942 N 105 6 9 8 » K84 « E1097 N46 846
vD108 v K954 S13111 v 109842 vD3 S 105 6 9 9 v 63 v DKn S 46846
+5 ¢ EKD4 0 1210121212 ¢ EK5 ¢Kn98643 0O 3 8 6 2 3 + D92 ¢ KKn6 096587
#K10753 #EKn2 V 1210121212 *E52 *K3 V38623 #EKD107 #Kn982 V96587
# 10932 «Kn3 4532
v Kn7 v KKn65 v 97542
+ Kn10832 + D102 + 10754
+D9 *Kn876 *5
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
37 3NO+3 ¢ -690 5.0 1.0 4 6 44 N= +6 420 4.0 2.0 37 3NO-2 v2 100 5.0 1.0
82 3NO+3 ¢J -690 5.0 1.0 8 2 44 N= ¢4 420 4.0 2.0 46 3NV-2 vA 100 5.0 1.0
10 5 6NO = *T -1440 2.0 4.0 10 5 44 N= +8 420 4.0 2.0 82 3&V+l VYA -130 2.0 4.0
46 6NO+1 +J -1470 0.0 6.0 37 3¢aN+2 vQ 200 0.0 6.0 105 3vS-2 &K -200 0.0 6.0
-9 3.4 -9 3.4 -9 3.4
16 « KD10843 Basta kontrakt 17 «Kn4 Basta kontrakt 18 « E842 Basta kontrakt
Vast v4 5¢ N =400 Nord v KDKn8632 5NT N =460 Ost v K1064 34 O =-140
ov + E532 Ingen + EK3 NS + Kn8
»62 & ¢ v & NT *4 & ¢ v o NT #974 & ¢ v o NT
«Kn965 472 N5 116 9 6 «E98632 «K7 N 107 117 11 «Kn10976 4D53 N589 47
vEKKn2 ¢10873 S5 116 9 6 v7 v 105 S 107 117 11 v2 v DKn83 S589 47
¢+ Kn + D108 072745 742 ¢ D10965 036051 ¢72 ¢ EK94 085495
#KKn53 #D874 V72745 #852 #Kn1096 V36051 #KDKn32 #85 V84495
oE « D105 oK
v D965 vE94 vE975
+ K9764 + Kn8 + D10653
#E109 #EKD73 *E106
Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
4 8 34 N= *7 140 6.0 0.0 93 6y N+1  #J 1010 6.0 0.0 9 3 34DV-1 8 100 5.0 1.0
57 3v0-1 s A 100 40 20 10 6 6v N= *J 980 4.0 20 10 6 3NO-2 vA 100 5.0 1.0
9 3 44 N-1 v3 -50 2.0 4.0 57 49 N+3 46 510 2.0 4.0 48 24 V= v4 -110 2.0 4.0
10 6 3NS-2 vA -100 0.0 6.0 48 49y N+1 &K 450 0.0 6.0 57 2NO+1 5 -150 0.0 6.0
2 - 3.2 2 - 3.2 2 - 3.2
19 » K1083 Bésta kontrakt 20 4« E108 Bésta kontrakt 21 4876 Bésta kontrakt
Syd vD1053 3V =-110 Vast v 96 44 V =-620 Nord v K875 24 O =-110
oV + 84 Alla + D8 NS ¢ 32
#KD4 & ¢ v & NT #E97543 & ¢ v & NT #K832 & ¢ v &N
4Kn952 476 N45566 4D953 4 KKn62 N7 4434 493 « ED1054 N75555
vE v KKn742 S4556 6 vKDKn5 vE82 S7 4434 v9432  vEDG6 S75555
¢ ED753 ¢ Kn2 098877 ¢ Kn432 ¢ E105 059 9 109 ¢+ KD984 ¢ 106 058887
985 #EKn107 V98877 #Kn *K108 V599 107 *E9 #1075 V58877
«ED4 *74 « KKn2
v 986 v 10743 v Kn10
+ K1096 + K976 ¢ EKn75
£632 *D62 #DKn64
Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
32 2V-1 *K 100 6.0 0.0 32 464 0= v3 -620 3.0 3.0 59 2NO-2 *Q 100 6.0 0.0
5 9 Pass 40 20 59 44 O= a4 -620 3.0 3.0 10 7 INS-1 +8 -100 4.0 2.0
107 2v 0= *T -110 2.0 4.0 6 8 44 O= +6 -620 3.0 3.0 68 INV+1l v5 -120 2.0 4.0
68 INO+2 T -150 0.0 6.0 10 7 44 O= +9 -620 3.0 3.0 32 2NS-2 49 -200 0.0 6.0
-4 2.7 -4 2.7 -4 2.7
22 4 KDKn9 Basta kontrakt 23 4 K94 Basta kontrakt 24 a7 Basta kontrakt
Ost v 109 3v O =-140 Syd v873 4v S =620 Vast vD1097 34 V =-140
oV 4 98652 Alla 41094 Ingen + K863
*Kn9 & ¢ v & NT #EK93 & ¢ v & NT *EK54 & ¢ v aN
sE4 #1032 N56 3765 210853 4E76 N6 6 106 7 « EKKn82 #1063 N6 3845
v K63 v DKn754 S$56375 v2 v 654 S 6 6 106 7 v5 v EK2 S6 3845
+1073 ¢ EKD 087 9538 ¢ EK5 ¢ Kn8732 077375 ¢+ E104 ¢ DKn952 06849 8
#K10863 #42 V87 958 #108652 #DKn V773765 #8732 *109 V78498
4 8765 & DKn2 « D954
vE82 v EKDKn109 v Kn8643
¢+ Kn4 + D6 *7
#ED75 *74 #DKn6
Par  Kontr ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
108 2v O = +J -110 6.0 0.0 25 4v S= +K 620 3.0 3.0 10 8 24 V= v7 -110 6.0 0.0
79 3v0= *J -140 4.0 2.0 43 4vS= ¢A 620 3.0 3.0 25 4vDS-2 oK -300 3.0 3.0
25 3v0+1 ¢4 -170 1.0 5.0 79 4v S= *A 620 3.0 3.0 4 3 4vyDS-2 &A -300 3.0 3.0
43 2v0+2 ¢J -170 1.0 5.0 10 8 4v S= ¢ A 620 3.0 3.0 79 3NO+2 v4 -460 0.0 6.0
6 - 3.4 6 - 3.4 6 - 3.4
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